
Name:_________________________ Date:___________________

Rewrite vertically and solve.

756 + 930 = 1,686

Rewrite vertically and solve.

394 – 179 = 215

Rewrite vertically and solve.

53 × 99 = 5,247

Rewrite vertically and solve.

9,088 ÷ 4 = 2,272

Find the sum.
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Name:_________________________ Date:___________________

Rewrite vertically and solve.

765 + 767 = 1,532

Rewrite vertically and solve.

706 – 551 = 155

Rewrite vertically and solve.

93 × 22 = 2,046

Rewrite vertically and solve.

3,323 ÷ 5 = 664.6

Find the difference.
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